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Edexcel GCSE
Mathematics (Linear) — IMAQ

Materials required for examination Ttems included with question papers
Ruler graduated in centimetres and Nil

mitlimetres, protractor, compasses,
pen, HB pencil, eraser.
Tracing paper may be used.

Instruections

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name, centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided — there may be more space than you need.
Calculators may be used.

Information

The marks for each question are shown in brackets — use this as a guide as to how much time to
spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your written communication
will be assessed — you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Toby invested £4500 for 2 years in a savings account.
He was paid 4% per annum compound interest.

How much did Toby have in his savings account after 2 years?

z \ 1 ~ - e
hWSoo x .04 = fused. 20

£.40323.10 ..
(Total 3 marks)
The value of a car depreciates by 35% each year. /ﬁc&
At the end of 2007 the value of the car was £5460 o) ';5;;__.‘/ - @
Work out the value of the car at the end of 2006 o Near
\ Vatlu
\/C)i‘”z x 0.5 = o003
Voluwe ¥ 0.5 = E 346D
Volue = Sueb e .eS
= 3400
£ .U

(Total 3 marks)




3.  Mario invests £2000 for 3 years at 5% per annum compound interest.
y p P

Calculate the value of the investment at the end of 3 years.

2000 % 1.05% = L2248 25

.........................

(Total 3 marks)

4. Derek invests £154 500 for 2 years at 4% per year compound interest.
Work out the value of the investment at the end of 2 years.

ISUSOO x 1.0 = £ic™ 103.20

£1911073.:20
3)
(Total 3 marks)




5. Henry invests £4500 at a compound interest rate of 5% per annum.

At the end of n complete years the investment has grown to £5469.78.

Find the value of ».

LSo0 x1.o5™ = ST
1.OSN = SU659.3F ~4S0O

= 2S5 066 .. -

LLOS?* = 1025
1.OS2 = j1SFe2S
| OSY = 1. 21550,

\|.O‘.$5: 1,236

.............

6. A company bought a van that had a value of £12 000
Each year the value of the van depreciates by 25%.

Work out the value of the van at the end of three years.
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S——xoas

EQ(_V‘\ “Heaco

1 2000 < O S = £ scerso.

---------

...........

(Total 2 marks)

..............

(3)
(Total 3 marks)




7. Bill invests £500 on st January 2004 at a compound interest rate of R% per
annuim.
The value, £V, of this investment after # years is given by the formula

V=500 x (1.045)"

(a) Write down the value of R.

,OuS = oW .S%

.....................

()
b) Use vour calculator to find the value of Bill’s investiment after 20 vyears.
y Y
VzSo0 x1.0us®®
= £i205.8530,.
- f_ 120S5.80
£ IQ_OS.%'.b o
(2)

(Total 3 marks)




8. Gwen bought a new car.
Each year, the value of her car depreciated by 9%.

Calculate the number of years after which the value of her car was 47% of
— » )

its value when new. , — —
Eaun Heas QQO/BTZ—DTC ‘1‘1/3

o.4Iv= VvV xoa”

=v) O,L_Lq:QQ\Y\

O.SWY = 0.6857 .,
O .91¢ - oc.S613%.,. .,
o.q" = OS5,

‘@R LI = A L T
.....................................

(Total 3 marks)

9. Liam invests £6200 for 3 years in a savings account.
He gets 2.5% per annum compound interest.

How much money will Liam have in his savings account at the end of 3 years?

C2C0 x| 0257 = L. 30E
= f e 72

..............................................................

(Total 3 marks)




10. Toby invested £4500 for 2 years in a savings account.
He was paid 4% per annum compound interest.

(a) How much did Toby have in his savings account after 2 years?

ULSCOx V.04 " = [ 4'67.10

..............................

(3)
Jaspir invested £2400 for n years in a savings account.
He was paid 7.5% per annum compound interest.
At the end of the » years he had £3445.51 in the savings account.
(b) Work out the value of 7.
2L00 % |.C3AS" = 3UusSS|
| .oAS" = 34us. St T oo
i O-'}S'\ = [ A2S629. .
1LOAS? = v2wlg, ..
OSSN = 1.335406b. . .
1.o¥S> = LuU3SL2.. .
1.0S° = ,su330...
. =
(2)

(Total 5 marks)




*11 Viv wants to invest £2000 for 2 years in the same bank.

The International Bank The Friendly Bank
Compound Interest Compound Interest
4% for the first year 5% for the first year
1% for each extra year 0.5% for each extra year

At the end of 2 years, Viv wants to have as nuch money as possible.

Which bank should she invest her £2000 in?

The internationa Bea\
\»&W
Ea V3 Year: 20000 % 1.OW-
€ nd 27 Uex @ (Qooox 1.0W) v 101
=[{2,00.20

CACAA A AN AA A AN

€ \S Yiear: 2000x 1.0S
€ Al 27 Lax © (2000 x 1 .OS) %< 1.00S
=L ano. 0.

Viv @neald vnwvest ner MEOe— wn e Mnermaly Banle,

s Lo g\\ye s £.9 30 e cd-the el o 1o s

(Total 4 marks)




